
SAP ABAP table TXW_CSKB {Cost Elements (Data Dependent on Controlling Area)}

TXW_CSKB

KOKRS [CHAR (4)]

KSTAR [CHAR (10)]

KOSTL [CHAR (10)]

AUFNR [CHAR (12)]

MSEHI  [UNIT (3)]

RECID [CHAR (2)]

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]
 TXW_CSKB-AUFNR = AUFK-AUFNR 0..N

{0,1}

CSKA

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

KSTAR [CHAR (10)]
 TXW_CSKB-KSTAR = CSKA-KSTAR 0..N

1

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 TXW_CSKB-KOSTL = CSKS-KOSTL 
0..N

{0,1}

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 TXW_CSKB-MSEHI = T006-MSEHI 

0..N

{0,1}

T8JJ

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RECID [CHAR (2)]

 TXW_CSKB-RECID = T8JJ-RECID 

0..N

0..N

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 TXW_CSKB-KOKRS = TKA01-KOKRS 

0..N

0..N


